RZR -VDZD proposed amendment for PC 12.18.19

[this section will replace the current section 3.10.3(a) of the RZR]

3.10.3(a) Residential Density

Each residential dwelling unit shall require 1/24 acre of developable land located on the same lot as the
unit. This equals a residential density of 24 units per acre. Developable land excludes those lands that
are outlined in section 2.5.2. The maximum number of units that may be permitted shall be calculated
by multiplying the residential density by the total developable acreage of the lot. When this calculation
results in a number of units with a fractional component, the fraction will be rounded according to
conventional rounding rules as follows, where X is a whole number:

X.0 — X.49 units shall be rounded DOWN to X units.
X.50 — X.99 units shall be rounded UP to X+1 units.
Examples: 24 units/acre x 0.22 developable acres = 5.28 units rounds DOWN to 5 units.

24 units/acre x 0.16 developable acres = 3.84 units rounds UP to 4 units.

If the number of permissible units is less than one (1) it shall be rounded UP to 1 unit.

Example: 24 units/acre x 0.02 developable acres = 0.48 units rounds UP to 1 unit.



